Appendix I

Continuous Individual Tax Return Problems and Comprehensive Tax Return Problems for 2011
Solutions to Continuous Individual Tax Return Problems

Solutions to the continuous individual tax return problem are found on the following pages.
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3-2
Continuous Tax Return 

a.
The marginal tax rate is 25% based on the tax schedule for married filing jointly. The average tax rate is 16.7% ($15,606 income tax / $93,412 taxable income). Although not asked, the effective tax rate based on total income (net) = $15,606 / $125,975 total income (Form 1040 line 22 $125,000 + exempt income of $975) = 12.4%. Note that there are alternative methods to compute the average tax rate and the effective tax rate. For example, in computing both rates, self-employment taxes might be included as part of the tax paid. In addition, it would not be unusual in computing the effective tax rate to use adjusted gross income in the denominator rather than total income.

b.
If they both contribute $4,000 for a total of $8,000, they could claim a deduction which at first glance would save them $2,000 (25% × $8,000). However, because the deduction reduces adjusted gross income, the taxpayers can deduct a portion of their medical expenses and more of their miscellaneous itemized deductions.

Zepp's Federal income tax w/o IRA contribution (using 2011 tax tables and no SE taxes)

$15,606
Zepp's Federal tax w/ IRA contribution (using 2011 tax tables and no SE taxes)

(13,456) 
Difference with IRA contributions of $8,000

$ 2,150
Analysis of federal tax savings:

Deductible IRA ($4,000 × 2 = $8,000 × 25%) 

$ 2,000.00

AGI effects:

Increase MIDs due to AGI decrease $8,000 × 2% or $813 – $653 
$ 160

Medical expenses
($423 – $0)
423
Total increase in itemized deductions 
$,583

Rate: 25% 2011 marginal tax rate 
× 25%
$ 145.75 

Total savings

$ 2,145.75
Note: If Larry is a participant in his company's retirement plan, he cannot deduct a contribution to a traditional IRA but Cathy could. Larry might consider making a nondeductible contribution to a traditional IRA, or better yet, a contribution to a Roth IRA. Another option would be to contribute to his company's Sec. 401(k) plan if it has one. Cathy could contribute to simplified employee pension plan (SEP).

c.
Check on your state's website, if your state has an income tax, or check with your instructor. Links to all states' websites can be found at www.taxadmin.org.
d.
Statement 4 is true. Since Larry's wages (assuming they are subject to F.I.C.A.) exceed the O.A.S.D.I wage base, he would only pay the 2.9% Medicare tax. Cathy paid both the 12.4% O.A.S.D.I. tax and the 2.9% M.H.I. tax.
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4-3
The solutions below were obtained assuming the tax year was 2011.

a.
Although the tax goes down due to the dependency exemptions, the $10,000 reduction in withholding triggers an estimated tax penalty. In order to avoid the penalty for failure to pay estimated taxes, taxpayers normally must pay 90 percent of the current year tax (after credits) or 100 percent of last year's tax (after credits) on a quarterly basis. This amount is computed on Form 2210 of the tax return. The required payment based on the current year's tax is

Current year's tax

Income tax after credits
$11,481
Self-employment tax
1,105 
Total current year tax including self-employment taxes
12,586
Required percentage of current year's tax
× 90%
Required payment
$11,327
Quarterly payment percentage
× 25%
Quarterly payment (rounded)
$ 2,832
Instead the couple can pay 100 percent of last year's tax on an installment basis. Last year's tax was $10,000 so the installment payment would be $2,500 per installment. The Zepps actually paid $8,000 during the year ($7,000 in withholding + $1,000 of estimated taxes). Consequently, they would have avoided penalty based on these payments if last year's tax had been $8,000 or less. Their failure to pay sufficient estimated taxes during the year resulted in a penalty of $44 as computed using the short method on Form 2210.

b.
(The table below accompanies this explanation.) The $4,000 payment to the child saves the couple taxes of $1,666 (using the rate schedules). Note that there is no tax to the child since (1) the child is entitled to a standard deduction equal to his or her earned income plus $300 and (2) there is no employment taxes on wages paid by parents to their children under 18. Also observe that the payment does not simply reduce the parents' tax by $1,000 ($4,000 × 25% marginal rate). The parents' total tax decrease is summarized below:

· The deduction for the payment to the child decreases taxable income by $4,000.

· Self-employment income drops by $4,000 reducing the self-employment tax by of $491 (13.3% × .9235% × $4,000). The deduction for self-employment taxes decreases as well by $282 ($636 – $354).

· Itemized deductions increase by $176 because AGI has decreased by $3,718. The reduced A.G.I. increases the deduction for medical expenses and miscellaneous itemized deductions (MIDs). Medical expenses increase by $102 ($9,000 – $8,898 new lower threshold). MIDs increase by $74 (2% × $3,718).

· The child credit increases by $200 due to the decrease in A.G.I.

A comparison of the tax consequences with and without the payment to the child is shown below (note that the taxes were computed using the rate schedules):


No Payment
Payment
Difference
Income 
$125,000
$125,000 
0

Payment to child
—
(4,000)
 ($4,000)


$125,000 
$121,000 
($4,000) 

Deductions for AGI
(2,635)
(2,353)
282

AGI
$122,365 
$118,647 
($3,718) 

Itemized deductions 
(21,553) 
(21,728) 
(175) 

Exemptions
(18,500)
(18,500)
(0)

Taxable income
$ 82,312
$78,419
($3,893)

Marginal rate


× 25%




($973)

Gross tax (using rate schedules) 
$ 12,831 
$11,856 
$973 
Child credit
(1,350)
(1,550)
200

Total income tax 
$ 11,481
$10,306 
$1,175 

Self-employment tax
1,105
614
491
Total taxes
$ 12,586
$10,920
$1,666
c.
The $50,000 increase in wages actually increases their taxable income by more than $50,000. The increase raises taxable income by $50,653. The additional $653 of taxable income is due to the elimination of miscellaneous itemized deductions of $653. In addition, the child tax credit drops from $1,350 to $0.

d.
Assuming the couple has increased AGI of $50,000, an additional increase of $1,000 results in an additional taxable income of $1,000 ($133,965 – $132,965) and an increase in tax of $250 or a marginal rate of 25 percent. The additional $250 can be explained by the fact that the couple is in the 25 percent bracket.
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5-2 
a.
The distributions do not effect the couple's taxable income. However, Larry's share of partnership income, $200, flows through and is taxable to Larry regardless of the amount distributed to him. A partnership is not a separate taxable entity but is considered a conduit or flow-through entity. It files a partnership tax return that reports the results of partnership operations for the year (Form 1065) as well as each partner's share of such income (Schedule K-1). The partner reports his or her share of the income and other items as found on the K-1 regardless of the amount of distributions. In theory, the distributions normally represent a return of the partner's investment, including income earned by the partnership that was retained.

b.
Larry's share of the partnership income, $200, is not self-employment income because he is a limited partner as indicated on the Schedule K-1. Income that flows from the partnership to an individual partner may or may not be subject to self-employment taxes. Generally, the ordinary income from partnership operations and certain payments made to the partner that are guaranteed are the only type of income potentially subject to self-employment taxes. However, such ordinary income is not considered self-employment income to limited partners. This view follows from the fact that investment income such as interest, dividends and the like are not subject to self-employment taxes. In the case of a limited partner who is merely an investor, the partnership income is investment income and is not subject to self- employment taxes. (See Chapter 3.)

c.
Cathy is required to report the value of the membership, $500, as taxable income.
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6-2
The answers to the additional questions to the continuous tax return problem are given below.

a.
The Zepp's nominal marginal tax rate is 25 percent.

b.
The dividends were taxed at 15 percent.

c.
The answer is (2): 85 percent of the Social Security benefits were taxable.

6-3 
a.
The tax return for Jennifer Zepp is shown on the following pages.

b.
Although the kiddie tax applies, the favorable reduced rates on dividends for 2011 and 2012 (15% and 5%) are still available for computing both the child's tax and the parental tax. The child's taxable income is $1,600 ($4,000 – $950 standard deduction – $1,400 additional standard deduction since blind). Of the $1,650, $2,100 is unearned income potentially taxed at the parents' rates ($4,000 investment income – $1,900 threshold). Since the investment income potentially taxable at the parents' rates, $2,100, exceeds the child's taxable income of $1,650, the calculation assumes that $1,650 is taxed at the parents' rates. To determine the amount of dividend income taxed to the parent, it is assumed that the amount of gross income not taxed to the parents, $2,350 ($4,000 gross income – child's taxable income $1,650) represents a prorata portion of the total dividend income or 25% ($1,000 dividends/$4,000 total income). Thus of the $2,350 of income that is allocated to the child, $588 is dividends [($1,000 dividends/$4,000 total income) × $2,350] and the remaining dividends of $412 ($1,000 – $588) is allocated to the parents. Thus $412 of the $1,650 taxed at the parents' rates is considered dividend income taxed at the parents' dividend rate of 15% for a $62 tax and the remaining $1,238 is ordinary income taxed at 28% for a tax of $347 or a total tax of $409. These calculations are shown below.

Child’s taxable income 

$ 1,650 

Child’s dividend income 
$ 1,000 

Dividend portion allocable to child ($1,000/$4,000 = 25% × $2,350) 
(588) 
(412)

Dividend portion allocable to parents’ 



Balance of income taxed at parents top rate 

$ 1,238 

Parents’ top rate 

× 28% 

Parental tax on ordinary income 

$ 347 

Parental tax on dividend income (15% × $412) 

62 

Total tax 

$ 409 

Alternative Calculation 



Parents’ taxable income 
$200,000 

Child’s taxable income (including $412 of dividends) 
1,650 

Parents’ taxable income with child’s investment income 
$201,650 

Dividends of parents 
(3,000) 

Dividends of child allocable to parents 
(412) 

Parents’ ordinary taxable income 
$198,238 

Parents’ tax on ordinary taxable income 
$ 43,771 

Parents’ tax on dividends ($3,412 × 15%) 
512 
$ 44,283 

Parents’ tax including child’s investment income 
$ 44,283 

Parents’ taxable income without child s investment income 
$200,000 

Parents’ dividends 
(3,000) 

Parents ordinary taxable income 
$197,000 

Parents’ tax on ordinary taxable income 
$ 43,424 

Parents’ tax on dividends ($3,000 × 15%) 
450 
(43,874)

Parents’ tax without child s income 
43,874 

Parental tax and total tax 

$ 409 
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7-1
Several items should be noted when using this problem.

· The solution allocates all of the tax preparation expense to Schedule C on the theory that but for the Schedule C, the taxpayer would not have paid for tax preparation.

· The income from the dog breeding activity is considered income from an activity not engaged in for profit, a hobby, and is reported as Other Income. The related expenses of $2,000, which are deductible to the extent of the $6,000 income, are deductible as miscellaneous itemized deductions on Schedule A.

· The solution assumes that withholding is $7,000 as indicated on the corrected W-2 form as shown in the Chapter 6 version of this problem.

· The solution assumes that the taxpayer received the Schedule K-1 found in the Chapter 5 version of this problem.
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7-2 
a.
Answer (4) is correct. Larry's expenses are related to his employment and, therefore, are considered miscellaneous itemized deductions subject to the 2% floor. In contrast, Cathy's expenses are related to her self-employment and as such are reported on Schedule C and are effectively a deduction for A.G.I. Since Cathy's expenses reduce A.G.I. they have an impact on those that Larry can deduct since his expenses are deductible only to the extent they exceed 2% of A.G.I. Every $100 of expense that Cathy has allows $2 of Larry's expenses to be deductible.

b.
If Larry is considered a statutory employee, he is permitted to deduct all of his employment related expenses of $3,050 as deductions for A.G.I. Such expenses are deductible on Schedule C. If he reported the expenses on Schedule C, the couple's taxable income would decrease by $765 computed as follows:

Taxable income: 
Larry's expenses treated as unreimbursed employee business expenses and miscellaneous itemized deductions subject to 2% floor
$ 101,805

Larry treated as statutory employee and expenses deducted for A.G.I. on Schedule C
(101,040)

Taxable income decrease
$ 1,448

c.
Yes. The health insurance premiums are deductible for A.G.I. but they are not reported on Schedule C. For 2010, the amounts do reduce self-employment income and the offset occurs on Schedule SE. The amount of the health insurance premium, $4,000, deduction cannot exceed Schedule C income reduced by self-employment taxes. In this case, Schedule C income less self-employment taxes is greater than $4,000 so the entire $4,000 is deductible for A.G.I.

d.
In Rev. Rul. 92-29, 1992-1 C.B. 20, the IRS ruled taxpayers who own a business, farm, or rental real estate or have royalty income may allocate a portion of the total cost of preparing their tax return to the cost of preparing Schedule C (trade or business income), Schedule E (rental and royalty income), or Schedule F (farm income) and deduct these costs ‘‘for’’ A.G.I. Unfortunately, the ruling provides no guidance on how the allocation is to be made.
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8-2 
a.
Cathy has three options: (1) deduct the $1,000 expense as a qualified education expense for AGI; (2) claim the 20% life time learning credit; or (3) deduct the expense as a business expense on Schedule C. The best option is to deduct the expense on Schedule C since it would not only reduce her taxable income but also her self-employment income. These benefits exceed the other options as the rough estimates demonstrate below.

Lifetime learning credit benefit: $200 ($1,000 × 20%).

Qualified tuition deduction benefit: $250 ($ 1,000 × marginal tax rate 25%)

Schedule C deduction: $403 [($1,000 × 15.3% self-employment tax rate = $153) + ($1,000 × marginal tax rate 25%) = $250]

b.
The moving expenses are not deductible since the taxpayer fails the distance test because he did not change job locations. His commute had he not moved must exceed the old commute by more than 50 miles. In this case, both the old and new commute would be the same since they are both measured from his former home and his job location. Because his job location did not change, there is no increase.

Solutions to Comprehensive Tax Return Problems

Comprehensive Tax Return Problem 1
1.
David R. and Susan L. Holman
a.
In addition to personal exemptions for themselves, the Holmans may claim a dependency exemption deduction for each of their two children.

b.
The $1,500 prepayment penalty for early retirement of the Dallas home mortgage should be treated as qualified residence interest and deducted on Schedule A.

The other expenses associated with the sale of the Dallas home total $23,660 and should be treated as selling expenses in computing the gain on the sale of this residence. The basis of the Dallas home is $191,600 ($177,500 original cost plus the $14,100 in improvements). The gain on the sale of the home does not exceed the $500,000 exclusion for joint filers and therefore is not reported on the return.

c.
In computing travel and lodging costs (excluding meals) to be reported as moving expenses on Form 3903, the Holmans should use the automatic mileage rate of 16.5 (2010) cents per mile for driving to California. The cost for 2 automobiles driven 1,500 miles each is $495 (2 × 1,500 × $16.5), which added to the $350 lodging costs totals $845.

The meal costs incurred enroute to the new home, the house-hunting expenses, and the temporary living expenses are nondeductible moving expenses.

d.
The $8,000 paid as points to acquire the mortgage on their new home should be deducted by the Holmans as interest expense on line 10 of Schedule A.

e.
David's $75,000 of wages as an employee will effect the computation of his self-employment tax because the sum of these wages and his self-employment income exceed the ceiling on which the social security tax of 6.2 percent is based.

f.
David's income and expenses from the appraisal business must be reported on Schedule C. Since (1) the prepaid rent for September 2010 was required to be prepaid and (2) the benefits of the payment (use of the office space) do not extend beyond 12 months after the first date the taxpayer realizes the benefit (October), all of it can be deducted in the year of payment (2010).

David's automobile expenses are computed using the standard mileage rate of 50 cents per mile for 5,000 business miles for a total of $2,500 ($.50 × 5,000).

Form 4562 must be used to compute David's depreciation deduction. The entire $34,900 cost of depreciable assets is deductible under § 179 optional expensing allowed for the year. The computer system is not considered listed property since it is used exclusively at a regular business establishment (see § 280F(d)(4)(A)(vi)). The problem also assumes that the telephone system is not listed property since it is not cellular or other similar telecommunications equipment (see § 280F(d)(4)(A)(v)).

g.
The Holmans' interest income must be reported on Schedule B since it exceeds $400. Note that the $800 of interest earned on the municipal bonds is nontaxable—but must be reported on line 8b, page 1 of Form 1040.

h.
Since the dividend income exceeds $400, it must also be reported on Schedule B. Note, however, that the General Motors stock dividend is nontaxable (and thus not reported). Also note that it is assumed that all the dividends received ($1,000) are qualified dividends to be taxed at the 15 percent rate.

i.
The Holmans must respond to the two questions in Part III, Schedule B, Form 1040, regarding financial accounts in foreign countries and foreign trusts.

j.
The Holmans must report their stock transactions on Schedule D.

(1) David's basis in each share of IBM stock sold is the fair market value (FMV) of the inherited property on the date of his uncle's death or $170 or a total of $17,000. The sale of 100 shares for $12,000 results in a long-term capital loss of $5,000 ($50 loss per share × 100 shares).

(2) Susan's basis in each share of General Motors stock sold is $37.25, computed as follows:

Donor's basis ($35 per share × 1,000 shares)
 $35,000

Plus: Gift tax paid adjustment

[image: image1.emf]
Basis before stock dividend
 $40,000

[image: image2.emf]
Susan's gain to be reported on the sale of 400 shares is $15,512 [sales price $31,200 ($78 × 400) less adjusted basis $15,688 ($39.22 × 400)]. Note that some students may use a per-share basis of $40 because they did not consider the impact of the 20-share stock dividend received on March 9, 2010 (see item h above). If students are provided with all or a part of the checklist of figures appearing at the end of these notes, they should be able to calculate the appropriate basis for the stock sold.

(3)
The Holmans' $4,500 gain on the sale of the Eastman Kodak stock must be reported in the current year even though the sales proceeds were not received until January 3 of the subsequent year. Trade dates rather than settlement dates must be used. [See Example 7 on page 16-10 of the text and Code § 453(k)(2).]

k.
Note that the solution reflects a deduction of $2,950 for state income taxes rather than a deduction for state sales taxes. Alternatively, the taxpayers may claim a deduction of $1,485 in sales taxes paid on the new automobile plus an additional amount of state taxes calculated using the optional sales tax tables. Also, note that the Holmans cannot deduct the $250 political campaign contribution.

Their deductible interest of $24,950 includes $5,250 for the home in Dallas, $10,200 for the home in Los Angeles and should include the $1,500 mortgage prepayment penalty from item b. above and the $8,000 paid as points on their new home mortgage from item d. above. The $2,200 in personal interest ($480 credit card interest + $1,720 interest on personal car loan) is not deductible.

Since the $1,205 in miscellaneous itemized deductions ($470 + $360 = $830 unreimbursed employee expenses + $375 tax return preparation fee) does not exceed 2 percent of A.G.I., no deduction is allowed for these expenses. There is insufficient information to determine whether a portion of the tax preparation expenses for the prior year might be allocable to Schedule C.

Although the Holmans can claim $82.50 (500 miles × $0.165 per mile) as medical transportation costs, the total medical expenses $5,648 ($982 + $2,830 + $1,535 + $218 + $83) do not exceed 7.5 percent of A.G.I.

The Holmans should claim a $7,000 contribution deduction (100 shares at $70 FMV per share) for the gift of General Motors stock to Susan's alma mater since the stock is long-term capital gain property. Note that an independent appraisal is not necessary for this gift because it is a publicly traded stock. Stock market quotes for the date of the gift should suffice.

The Holmans' total itemized deductions are $50,950.

l.
The Holmans should calculate the credit for child care expenses on Form 2441. The Holmans are allowed a child tax credit of $1,000.

m.
The name and social security number of each child should be reported on line 6 c, page 1 of Form 1040.

n.
Estimated tax payments are reported on line 62, page 2 of Form 1040. Note that we have not calculated an underpayment penalty. This amount will vary depending on what students estimate to have been the Holman's 2009 federal income tax liability before credits or prepayments—an amount we failed to provide in the fact pattern.

The return ignored the "making work pay" credit

Check Figures for Holman Tax Return
Form 1040, page 1, line 37—A.G.I

$173,628

Schedule A, Form 1040:

Interest expense deduction

24,950

Total itemized deductions allowed

50,950

Schedule C, Form 1040—Total deductions

41,225

Schedule D, Form 1040—Net long-term gain

15,012

Form 1040SE—Self-employment tax

5,047

Form 2441—Child care credit

1,000

Form 3903—Moving expenses:

Travel and lodging expenses

845

Total moving expense deduction

10,095

Form 4562—Depreciation expense

34,900

Comprehensive Tax Return Problem 1

[Insert UNF here]

[Insert UNF here]

[Insert UNF here]

[Insert UNF here]

[Insert UNF here]

[Insert UNF here]

[Insert UNF here]

[Insert UNF here]

[Insert UNF here]

[Insert UNF here]

[Insert UNF here]

[Insert UNF here]

[Insert UNF here]

[Insert UNF here]

[Insert UNF here]

Comprehensive Tax Return Problem 2
2.
Richard M. and Anna K. Wilson
a.
In addition to personal exemptions for themselves, the Wilsons may claim dependency exemptions for each of their three children and for Anna's mother, Ruth Knapp.

Even though their son Michael is 20 years old and earned $4,750 from a summer job, the parents are entitled to a dependency exemption because he is a qualifying child. He meets the relationship test (he is their son); he meets the age test (he is a full-time student less than 24); he meets the residency test (he lives at home except for temporary absences); he meets the support test (he does not provide more than one-half of his support) and he is a U.S. citizen and does not file a joint return.

The Wilsons are entitled to a dependency exemption for Anna's mother because they provide more than half of her support. Recall that parents are not required to live with the taxpayer.

b.
The state income taxes withheld from Richard's salary should be added to the other state income taxes reported as paid in item j. below and reported on Schedule A.

c.
Anna's income and expenses from the travel agency must be reported on Schedule C. Note that Anna is allowed to treat the amounts paid to her daughters as deductible wage expenses even though she did not pay employment taxes on these wages. Recall that a self-employed taxpayer is not required to withhold or pay employment taxes on amounts paid to his or her children 18 years of age or under. Anna should report deductible wages of $24,000 ($22,800 + $750 + $450) on Schedule C.

Legal and professional services of $900 includes $700 for professional services plus $200 of the $650 of tax preparation fee that was noted as specifically allocable to her business. The remaining $450 is a miscellaneous itemized deduction reported on Schedule A.

Because she used MACRS in 2009, Anna cannot use the automatic mileage method for 2010. Also, note that Anna's auto expenses must be reduced by her 20 percent personal usage. Thus, 80 percent of the $650 auto insurance, 80 percent of $750 interest paid on the auto loan, and 80 percent of the $1,790 expenses for gas, oil, and repairs should be added to the $410 in parking and tolls paid during 2010 and reported as car expenses on Schedule C ($1,790 + $650 + $750 = $3,190 × 80% = $2,552 + $410 = $2,962).

Form 4562 must be used to compute Anna's depreciation deduction. Since the total dollar amount of her purchases of furniture and equipment of $18,000 ($8,900 + $5,700 + $1,500 + $1,600 + $300) during the year does not exceed the amount allowed for 2010, the entire $18,000 of qualifying property should be expensed under the § 179 optional expensing rule. Anna's depreciation deduction for the business auto is $3,840, computed as follows:

Original cost
$26,000

Business use percentage
× 80%
Business use basis
$20,800
MACRS mid-quarter percentage from Chapter 9, Exhibit 9-7, text p. 9-17
× 38%
Total
$ 7,904
Depreciation limit for second year of use 
$ 4,800

Business use percentage 
× 80%

Depreciation limit for the year
$ 3,840
Note that Anna is limited to the lesser of 80 percent of the depreciation otherwise allowed ($7,904) or 80 percent of the maximum depreciation allowed in the second year of the life of her automobile ($4,800 for one placed in service in 2009). Thus, her deduction is limited to $3,840. Note that it is assumed that Anna did not use bonus depreciation in 2009. Also, instructors should be aware that the second year limitation for cars placed in service in 2009 is not in the text although it can be found easily on the Internet.

d.
Richard's unreimbursed expenses from the Washington, D.C. trip should be added to his other unreimbursed employee business expenses from item (l) and reported on Form 2106EZ. Note that 50 percent of the $130 meal costs or $65 is disallowed. See item (l)

e.
The Wilsons' interest income of $2,500 ($845 + $900 + $755) must be reported on Schedule B since it exceeds $400.

f.
Since the dividend income of $500 ($300 + $200) exceeds $400, it must be reported on Schedule B. Also note that per the instructions we have treated all $500 of dividends as qualifying dividends taxed at the 15 percent rate.

g.
The Wilsons must respond to the two questions in Part III, Schedule B, Form 1040.

h.
The Wilsons must report their stock transactions on Schedule D.

(1) The sale of 300 shares of Chevron stock results in a $4,450 long-term capital gain [$14,950 sales proceeds – (300 × $35 basis per share = $10,500)].

(2) The gift of 100 shares of Chevron stock to each of their children is not a taxable event required to be reported for income tax purposes.

(3) The Wilsons' gift of 100 shares of Chevron stock to Rider University qualifies as a deductible charitable contribution and should be reported on Schedule A. The amount of the contribution deduction is $6,125 (100 × $61.25) since the stock is a long-term capital gain asset. See item j. below.

(4) The Wilsons should treat the worthlessness of the oil company stock as a loss from a sale or exchange on the last day of the year. Consequently, they should report a $12,000 long-term capital loss on Schedule D.

Note that the combination of the $4,450 LTCG from item (1) above and the $12,000 LTCL from item (4) results in a $7,550 long-term capital loss. The Wilsons' capital loss deduction is limited to $3,000, and the remaining $4,550 LTCL must be carried forward to the next year.

i.
The Wilsons' income and expense from the rental condominium must be reported on Schedule E. Depreciation on the property should be calculated as follows:

Depreciable basis of condo
$150,000

MACRS percentage from Exhibit 9.6, text p. 9-12
× 3.636%

2010 depreciation allowed
$ 5,455

When the depreciation is added to the other $21,775 of expenses from this rental property, the Wilsons have a $10,830 loss. The loss is considered a passive loss and reported on Form 8582. Even though rental losses are by definition passive losses, the Wilsons are allowed to deduct the entire loss under the rental real estate exception of Code § 469(i). Their modified AGI is $119,168 (AGI $103,566 + rental loss $10,830 + self-employment tax deduction $4,772) which exceeds the $100,000 threshold by $19,168 and 50 percent of this excess is $9,584. Thus the allowable amount $15,416 ($25,000 – $9,584) exceeds the loss of $10,830.

j.
The Wilsons must report their itemized deductions on Schedule A.

Deductible medical expenses of $17,175 ($425 + $1,595 + $2,750 + $805 + $115 + $11,485) should include the entire $2,750 paid to the dentist—even though some of this amount represents a prepayment. Recall that if the prepayment is required before the services are rendered, the entire prepayment is deductible. Also, the medical expenses of Anna's mother ($11,485 + $115) can be deducted by the Wilsons since the mother qualifies as a dependent.

The $2,100 state income taxes paid should be added to the $1,850 state income taxes withheld by Richard's employer [see item b. above] and the total of $3,950 reported on Schedule A. Note that a state sales tax deduction is not taken because state income taxes paid provide a greater deduction.

Their deductible interest of $9,100 includes the interest on the original home mortgage of $8,690 and the $410 interest paid on the home equity loan since the loan amount did not exceed the $100,000 limit. None of the Wilsons' personal interest of $1,150 [$275 credit card interest + $725 interest on personal car loan + $150 interest from the personal use of Anna's business auto reported in item c. above] is deductible. A portion of the tax preparation expenses, $200, is related to preparation of Schedule C and is included with other expenses on line 27 of Schedule C.

The Wilsons should claim a $6,125 contribution deduction (100 shares at $61.25 FMV per share) for the gift of Exxon stock to Richard's alma mater since the stock is long-term capital gain property. Form 8283 should be used to report this noncash charitable contribution, describing the property and valuation method used. Note that an independent appraisal is not be necessary for this gift since it is a publicly traded stock. Stock market quotes for the date of the gift should suffice.

The Wilsons' miscellaneous itemized deductions are calculated as follows:

Richard's unreimbursed expenses from trip to Washington D.C. [item d.]:

All expenses except meals
$1,110

Meals (50% of $130)

65
Total for trip
$1,175

Plus expenses reported in item k. below: 

Professional dues 
450

Professional journals
385

Briefcase
115

Total unreimbursed employee expenses
$2,125

Plus tax return preparation cost ($650 — $200 to Schedule C) 
450

Total miscellaneous itemized deductions
$2,575

k.
Anna must treat the $11,500 contribution to her Keogh plan as a deduction in arriving at A.G.I.

l.
The Wilsons should treat the unreimbursed employee business expenses of $2,125 [professional dues ($450), professional journals ($385) and office gifts ($115)] as miscellaneous itemized deductions subject to the 2 percent of A.G.I. floor. Note that the tax return preparation expenses of $650 were split, $200 allocated to Schedule C and $450 to Schedule A as a miscellaneous itemized deduction.

m.
Either a deduction or a credit could be claimed for Michael's education expenses. However, in this case, the credit is claimed since it is worth more than the deduction. Only the tuition of $9,350 is eligible for either the deduction or credit since the cost of books are not qualified tuition expenses. The deduction for the expenses is limited to $4,000 and is for A.G.I. Since the couple's taxable income puts them in the 15 percent marginal tax bracket, the deduction is approximately worth $600. Another option is the lifetime learning credit. They could claim the lifetime learning credit for the expenses of $1,163 as computed below.

Lifetime learning credit 

Eligible expenses 
$ 9,350 

Percentage
×20%

Credit before reduction 
$ 1,870
$ 1,870
$1,870

Reduction threshold for 2010 is $96,000 - $116,000 

A.G.I. 
$103,566 

Threshold for 2010
(96,000)

Excess 
$ 7,566

Percentage ($7,566 excess / $20,000 phase-out range)

×37.8%


Reduction

$ 707
(707)

Lifetime learning credit


$1,163

The best alternative for the couple is the American Opportunity Credit. This credit is 100% of the first $2,000 and 25% of the next $2,000 for a maximum of $2,500. Also note that 40% of this credit or $1,000 is refundable unless the child could be subject to the kiddie tax (i.e., the child is a full-time student less than 24 and has earned income that does not exceed one-half of his or her support). Since Michael would be subject to the kiddie tax, the couple would be entitled to a credit of $2,500 none of which would be refundable.

n.
Since they itemized their deductions for 2009, the Wilsons must include the $130 state income tax refund in gross income for 2010 under the tax benefit rule.

o.
Estimated tax payments of $9,000 are reported on line 62, page 2 of Form 1040.

p.
The name and social security number of each child should be reported on line 6c, page 1 of Form 1040. In addition, the social security number of Ruth Knapp (Anna's mother) must be reported in order to claim her as a dependent.

The return ignores the "making work pay" credit.

Check Figures for Wilson Tax Return
Form 1040, page 1, line 37—A.G.I

$103,566

(after deducting $11,500 allowed for Keogh plan contribution) Schedule A, Form 1040:

Total medical and dental expenses

9,408

Total taxes paid

5,575

Interest expense deduction

9,100

Total itemized deductions

31,912

Schedule C, Form 1040—Total deductions

66,462

Schedule D, Form 1040—Net long-term loss

(7,550)

Schedule E, Form 1040—Net loss on rental property

(10,830)

Form 2106—Unreimbursed employee business expenses

2,125

Form 4562—Depreciation expense:

MACRS cost recovery on business auto

3,840

Deprecation on rental condominium

5,455

Comprehensive Tax Return Problem 2
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